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SECOND YEAR HIGHER SECONDARY EXAMINATION SAMPLE QUESTION

PAPER

Maximum : 60 Scores

Part 111 Time: 2Hour

Cool-off time: 15 Minutes

ACCOUNTANCY WITH COMPUTRISED ACCOUNTING

General Instructions to Candidates.

There is a ‘Cool off time” of 15 minutes in addition to the writing time.
Use the ‘Cool of time’ to get familiar with questions and to plan your
answers

Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non programmable calculators are not allowed in
the examination hall.
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PART A
Answer any 4 questions from 1 to5 . Each carries 1 score

1. Goodwill existing at the time of admission of a partner is shared among the old
partnerin....... ratio.
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(Old ratio ,new ratio ,sacrificing ratio, gaining ratio).

2.1 n which ratio the continuing partners compensate the share of goodwill of retiring
partners, when he retires?
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3. On revaluation of assets and liabilities, increase in the value of stock is credited to

A) stock A/C ( B) Revaluation A/C ( C) Profit and loss A /c (D)None of these
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4.At the time of dissolution of partnership firm ,the amount realized from sale of assets
are utilized first to pay ....

(A)Capital (B)partners loan (C) outside liabilities (D)None of these
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5.In the absence of Partnership Deed interest on partner’s loan is provided @........... %
Answer all questions from 6to7. Each carries 2 score
6. List out any four items credited in partners capital account
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7.Asha, Deepa and Lalitha are partners in a firm and their profit sharing ratio is
3:2:1.Asha retire from the firm .At the time of retirement of Asha the balance sheet
shows general reserve 90,000 and profit and loss( Dr )60,000.Give necessary journal
entries .
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Answer 2 questions from 8to10. Each carries 3 score
8.From the following journal entry prepare revaluation account
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Machinery A/c. Dr
Stock A/c. Dr
To provision for bad debt
To. A's capital

To B's Capital

9.Explain Fixed capital method of preparing Partners capital Account.
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10. Ramesh and Ratheesh are partners in a firm with the profit sharing ratio of
2:1.Rajesh is admitted as a new partner with the %2 share in the future profits of
the firm .The total goodwill of the firm on the date of admission was valued at
Rs.120000/- .Rajesh brings in Rs.50000/-as his capital and the required share of
goodwill. Ramesh and Ratheesh immediately withdraw one -half of their share of
goodwill .Give the necessary journal entries.
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Answer all questions from 11to12. Each carries 4 score

11.state any four difference between dissolution of partnership and dissolution
of partnership firm.
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12.Aji, Biji and Saji are partners in a firm sharing Profit and losses in the ratio of
2:2:1.They close their accounts 315'march every year .Saji wishes t°retire on
30"September 2021.Asper the P eed the retiring partners share of profit up to the
date of retirement should be estimated on the basis of average profit of the last
5completed years .The profit for the last 5years were Rs.30,000 ,Rs 20,000
Rs.15000,Rs25000 and Rs10,000 respectively .calculate the share of profit of Saji
upto the date of retirement.
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Each carries 5 score

13. Albin and Babu and Chandran are partners in a firm sharing profits and losses in the ratio of 3:2:1.Chandran retires from
the firm .on the date of his retirement Rs 2 ,00,000 becomes due to him .Albin and Babu promised to pay him in 5 equal

installments plus interest at 12%p.a.o n the unpaid balance .Prepare Chandrans loan account .
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14.Mohan and Alex are partners sharing profit and losses in the ratio of their capital.Their capitals on 01/01/ 2021 were X
50,000 and X 30,000 respectively .As per the Deed the partners are entitled to interest on capital @ 8% p.a .Mohan is allowed
a salary of ¥ 5000 p.a and Alex a commission of Rs 500 per month .The partners withdraw rupees 10,000 and rupees 5000
respectively during the year .inter est on drawing is to be charged at 10% p. a. The net profit of the firm before the above

adjustments were Rs.20,650 . Prepare profit and loss appropriation account.
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Answer any 1 question from 15to 16, carries 8 score
15.Hari and Santhosh are partners in the ratio of 5:3. Their balance sheet as on 31.03.2022 is given below

Balance sheet as on 31.03.2022

Liabilities Assets.
Creditors 10,000 Bank 80,000
Reserve fund 32,000 Debtors 25,000

Capital Stock 15000




Hari. :10,00,000

Santosh :58,000 Building 80,000

158,000

Total 2,00,000 2,00,000

The partners decided to dissolve the firm .By considering the following, prepare realization A/C partners capital A/C and bank

A/C.
o Stock and debtors realized at Rs19000 and Rs 24000 respectively
. Building realized at Rs .7000 less .
. Realization expenses amounted to Rs.2000
. Creditors are paid in full
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2,00,000 2,00,000
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16.Given below is the balance sheet of Anu and Vinu who share profits and losses in the ratio of 3:2

Balancesheet

Liabilities Amout Assets Amount
Bils 40,000 Cash 20,000
payable
Partners Debtors 30,000
caital
account
Anu
60,000
Vinu
50,000 1,10,000
Stock 10,000
Furniture 40,000
Plant and 50,000
machinary
150,000 150,000

Mr.manu is admitted into the partnership on the following terms



. The new partner has to bring Rs.40,000/-as capital and Rs,10,000as goodwill for ¥4 th share .

. Furniture is revalued at Rs .30000/-

o Stock reduced by 2000

. Depreciation of plant and machinery @15%p.a
. Debtors are revalued at Rs. 35000

Prepare revaluation account ,partners capital account and balance sheet after admission
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PART -B
Answer 3 questions from 1to4. Each carries 1score
1. A$25- identify these cell reference
(relative ,absolute ,mixed ,range )
2.Find the odd one
(A)Data audit (b)cell reference
(C) data vault (d)password security
3.syntax of SLN is ......... ag™S ag)@B a8 agasm@ 6 GO agerme
4.Expand DBMS ..................
Answer the question which carries 2score
5.List out the components of libre office base (2)
Answer all questions from 6 to7. Each carries 3 score
6.write any 3components of payroll accounting .(3)
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7.Briefly explain the advantages of using graphs and charts (3)
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Answer the following question ,which carries 4 score
8.what are the advantages of computerized accounting .list any
Answer 1 questions from 9to10 . which carries 5 score

9.Complete the table for voucher entry in GNU Katha(5)

Sl Transactions Accounts Voucher
no to be type

debited

1 Cash a/c Dr Reciept

Commenced
Capital Cr
business
a/c
with cash

2 Purchased
goods on
credit from

Raju

3 Paid salary

by cheque

4 Withdraw
cash from
bank for

office use

5 Sold goods
for cash to

soman

6 Purchased
furniture on
credit from
Regal

furniture




10. A)Write the procedure for creating pivot table

B)classify the following functions as mathematical data and time ,logical and financial functions

Data value

Count

AND

CUMIPMT

SUM

Rate



